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Adaptive control techniques and appropriate autonomy
granting is found in this type of child rearing style

1. Authoritative

2 Authoritarian

3. Permissive

4 Neglectful / uninvolved
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To observe the behaviour of children “Observation Dome’was
prepared by

1. Freud
2. Gessel
3. Hurlock

4. Stanley Hall
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‘Cooperative play’ starts at the following age (approximately)
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2 years of age
3 or 4 years of age
5 years of age

10 years of age
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According to Piaget, lack of concepts of irreversibility is
found in this stage

1.
2.
3.
4.

Pre operational stage
Formal operational stage
Concrete operational stage

General operational stage
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As per Ericson the psychosocial conflict faced during
7™ stage is

l. Initiative - Guilt

2. Intimacy - Isolation

3. Generativity - Stagnation

4. Integrity - Despair
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The age of Savithri is 12 years. As per Intelligence tests her
age was calculated as 18 years. The 1.Q. of Savithri is
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One of the following is not a sub test of
‘Differential Aptitude Test’

l. Verbal Reasoning

2. Abstract Reasoning

3. Numerical Ability

4. Object Assembly
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A person got angry upon his higher officer in the office. He
could not exhibit his anger on his higher officer. So, he
showed his anger on his children at home. The defense
Mechanismused here is

1. Displacement
2. Repression

3. Projection

4. Compensation

2.5 $38 &3 P w00 50 3)08. & §IY edws’
ES P 0OT0P (DEO)OSTEFrD. oS’ &5 I3 aoéS:’
&) DYUP W, 3 & GIBROVS FEESO|E0

LTRSS
2. SS8E0
3. (959

4. ploXeplele



10.

Siva liked two dolls in a shop. But he can purchase only one
with the amount with him. He is unable to decide which doll is
to be purchased. The conflict of Siva is

1. Approach - Avoidance

2. Approach - Approach

3. Avoidance - Avoidance

4. Double Approach - Avoidance
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One of the following is a “Type theorist”
1. Hippocrates

2. Freud
3. Ericson
4, Cattle
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12.

The Variable under the control of the experimenter is

1.
2.
3.
4.

Independent Variable
Dependent Variable
Interfering Variable
Unstable Variable
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‘Figure ground relationship’ was first explained by

b=

Kohler
Terman
Rubin

Tolman
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Author of the book ‘Inquiry into human faculty and its
development’ is

1. Ebbinghaus

2. Galton
3. Bartlett
4, Plato
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In higher order conditioning ‘ringing of bell’ is

1 Conditioned Stimulus

2 Unconditioned Stimulus

3. Conditioned Response

4 Unconditioned Response
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‘Bobo Doll study’ is related to the following learning theory
Bandura’s theory

Pavlov’s theory

Bruner’s theory
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Skinner’s theory
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The following is NOT a ‘higher order Mental process’ as per
Vygotsky

1 Reasoning

2 Discrimination

3 Comparison

4, Analysis of Social issues
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18.

Anita learnt vocal music. Later she wants to learn Veena, Here

the transfer of learning will be

1.
2.
3.
4.

Positive
Negative
Zero

Bilateral

DS (S DONS0 JH0B. SHTS Vs’ S
GoR0d. g8 & @2;55“@:5 22E5e°000Y) B0

1.

2
3.
4

05O
mwéé&§
%5%‘65
Sk

One of the following is related to ‘Psychomotor domain’

1.
2.
3.
4,

Articulation
Valueing
Characterization

Analysis
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20.

Sankar Suggests so many solutions to a problem. The thinking

of Sankar is

1.
2.
3.
4,
J056 2.5 HH0FH &I HOXY B Srcren DL,

Concrete thinking
Convergent thinking
Divergent thinking
Non Directive thinking
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One of the following is NOT a paper pencil test

1.
2.
3.
4,

Kohs block design test
Army Alpha test
Ravan’s Progressive Matrices

Army Beta Test
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Cerebral Palsy is a

1.
2.
3.
4.
[0
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Locomotors disability
Hearing loss
Learning disability

Visual Impairment
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One of the following is incorrect regarding ‘Directive

counselling’

1. This is problem centered counselling

2. Counselor plays key role

3. Client will solve his problem

4. There is no scope for client to discuss freely
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In directive / Authoritarian leadership

1. Members will take decisions

2. Opinions of Majority members will be implemented
3. Only leader will take decisions

4. Leader is nominal only
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One terabyte is equal to
1. 1024 kilo bytes

2. 1024 Giga bytes
3. 1024 Hexa bytes
4. 1024 Bits
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Full form of VIRUS
VIRUS g &0

Very Intelligent remote using system
Vital internal Resource unit softwear

Visual Imaginary running unit for system

b s

Vital Information Resource under seize

As per RTE 2009 the percentage of parents in School
Management committee is

TGS, S0 2009 (S0 FETO SITERITSy EWES’
SYLogoew TS0

1. 25%
2. 50%
3. 75%
4. 47 %

As per NCF 2005, the time to be allotted to students of 6 to 8
classes for home work

1. 4 to 6 hours in a week
2. 12 hours in a week

3. 10 to 12 hours in a week
4. 14 hours in a week
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29.

As per NEP 2020, M.Phil course is

1.
2.
3.
4.

3 years after 4 year Graduation
6 years after Intermediate
2 years after Post graduation

Discontinued

NEP 2020 (3s°50 M.Phil §%5)
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The following is not in Nadu — Nedu programme of Andhra
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Pradesh

1. Toilets

2. Textbooks

3. Green chalk boards

4. Drinking water supply
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30.  The MOOC platform ‘SWAYAM’ was developed by
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61.

62.

63.

64.

SET -3
ENGLISH

Choose the correct negative form of the simple present tense
for the pronoun “we”.

1. don’t

2 doesn’t
3. didn’t
4 isn’t

Select the sentence in the simple present tense.
1. She reads books regularly.

2 They will visit us tomorrow.

3. I am watching a movie now.
4

We have seen that movie.

Choose the grammatically correct sentence from the following.
1. I enjoyed in Ooty

2 I enjoyed myself in Ooty

3. I enjoyed myself of in Ooty

4 I enjoyed myself of into Ooty

Choose the discourse marker that can be used to elaborate
something

1. In other words...
2 However...

3. On the contrary ...
4 [ agree



65.

66.

67.

68.

Choose the punctuation mark which is used to join two
independent clauses without a conjunction.

1.

2.
3.
4

Semicolon (;)
Apostrophe ()
Quotation mark (™)

Question mark (?)

Choose the correct sequence of the words in which they appear
in the dictionary.

A) Person  B) Place C) People D) Please

b=

C A B D

o w »

C B D
D C A
B C A

Choose the linker which implies contrast

1.

2.
3.
4

Furthermore
Moreover

Nevertheless
Additionally

Identify the compound sentence

1.

2
3.
4

I went to the shore, but they were closed.

After I went to the shore, I realized I forgot my wallet.
She cooked dinner while he watched TV.

The book is on the shelf, where it belongs.



69.

70.

71.

72.

One of the following is not an interjection

1.

2.
3.
4

Wow!
Hooray!
Beautiful
Ouch!

Identify the type of Pronoun in the sentence

‘This book is mine’

.

Personal pronoun
Possessive pronoun
Relative pronoun

Interrogative pronoun

Choose the meaning of the phrasal verb ‘take after’

L.
2
3.
4
Choose the type of sentence that expresses strong emotion
1.

2.
3.
4

to dislike someone
to avoid someone
to resemble or inherit traits from a family

to argue with someone.

Declarative sentence
Exclamatory sentence
Imperative sentence

Interrogative sentence
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74.

75.

76.

“I’ll have a cup of tea,” my father said.

Choose the correct indirect speech for the sentence above

1. My father said that he had a cup of tea.

2 My father said that he will have a cup of tea.

3. My father said that he would have a cup of tea.
4 My father said that he will have had a cup of tea.
Every one finished reading a fairy tale.
Choose the correct verb that fits the blank.

1. has

2 have

3. was

4 have been

Art of writing for newspapers and magazines.

Choose one word substitution for the expression above.

1.

2
3.
4

literature
journalism
biography
artistry

Choose the correctly spelt word.

1.

2
3.
4

magnificient
magnifecent
magneficent

magnificent
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78.

79.

80.

On the Monday following Mamma’s birthday, Seven went

alone with her to the clinic.

Choose the synonym of the word ‘alone’

l.

2
3.
4

“Can’t you recall anything? Someone else you know was also

lonely
independently
together

1solated

in Ranchi at that time”.

Choose the antonym of the word ‘recall’

1.

2
3.
4

forget
remember
reminisce

recollect

English is described as the language of:

1.

2
3.
4

The following are the chief linguists who advocated S — O — S

socialization only
local schools of all states in India
socialization, civilization and modernisation

transportation

approach:

1.

2.
3.
4

C.J. Dodson and James Asher
C.J. Dodson and Jane Austin
A.S. Hornby and Harold Palmer
H.J. Thomas and C.J. Dodson
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82.

83.

The following are considered as structural words.

1. Nouns

2 Verbs

3. Adjectives
4 Articles

The following is not a sub skill of micro teaching.

l. Reinforcement

2 Describing

3. Stimulus variation
4 Homework

Read the following passage.

The forest was alive with the symphony of nature, as birdsong
filled the air and leaves rustled in the gentle breeze. Shafts of
sunlight filtered through the dense canopy, dappling the forest
floor with golden hues. Squirrels scampered along tree
branches, while rabbits darted through the undergrowth. In this
tranquil haven, every rustle and chirp spoke of the harmony of
the wilderness.

Select the correct statement based on the passage:
1. The forest was silent, devoid of any animal activity.

2. Sunlight shone brightly, making the forest floor
colourful.

3. Rabbits were flying through the air above the forest
canopy.

4. Birds were absent from the forest, creating an eerie
silence.
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85.

86.

Read the following passage.

The forest was alive with the symphony of nature, as birdsong
filled the air and leaves rustled in the gentle breeze. Shafts of
sunlight filtered through the dense canopy, dappling the forest
floor with golden hues. Squirrels scampered along tree
branches, while rabbits darted through the undergrowth. In this
tranquil haven, every rustle and chirp spoke of the harmony of
the wilderness.

Choose the correct statement based on the passage:

1.
2.
3.

Squirrels were swimming in a nearby river.
The forest was devoid of any sunlight.

Leaves were falling from the trees, creating a carpet of
green on the forest floor.

Every sound in the forest contributed to its peaceful
ambiance.

In Bilingual Method, difficult words are better translated into
mother tongue:

1.

2
3.
4

to confuse the learners
to make learners happy
to save time

to develop a foreign language

‘Silence’ is used as a tool in the following method:

b=

The Silent Ways
The Bilingual Method
The Direct Method

The Communication Method
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88.

89.

90.

He is

town for a few days.

Choose the correct option that fits the blank.

1.

2
3.
4

off of
of Off
out of

into off

Noun clauses can function

l.

2.
3.
4

as nouns within sentences
as adjectives
as pronouns within sentences

as linker within sentences

You needn’t worry about it.

In the above sentence, ‘needn’t’ is used to express:

1.

2
3.
4

One of the following is not a use of the indefinite article.

possibility
negation of necessity
conditional possibility

polite request

Identify it.

I.

2
3.
4

Introducing a singular common noun
Referring to specific groups
Quantities of one

Before singular countable nouns.
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92.

SET -6

Mathematics

A shopkeeper Danayya has 113 palm leaf fans in his shop.
Sarma wants to buy 226 palm leaf fans. The more number of
palm leaf fans required to the shopkeeper to sell the fans.

8 tHSoed S rRckg 38 113 IS S(Beo Ganam.
FEYH 226 JBS EFew Ty T, PSS FOKST SSSE
A AOTETe0 608 @KL

l. 100
2. 113
3. 116
4. 126

9 oranges can be packed in a box. The number of boxes
needed to pack 738 oranges.

2.8 DBSE° 9 EHoro DN 738 SHeroH HIEI8
SEOVS DEL oS

1. 123
2. 90
3. 92
4. 82
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If E+x=1—7 then ‘x’ =
7 7

é+x:1—7 900N, ‘X’ eV
7 7
1. 14
), 10
7
3. (lj
14
4. 2
If o _ 15 , then ‘x’ =
7—6x
9x >
=15 ®00S, ‘X’ JeS
7—6x
3
35
2. 2
33
3, »
33
4, 3
32

The smallest natural number by which 392 must be multiplied
so that the product is a perfect cube
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4
7
5



The length of a Crocodile is 400 cm and the length of a Lizard
is 20 cm. The ratio of lengths of Crocodile and Lizard.

2.5 000 P& 400 0.20. 508050 2@ &Y 20 20.20.
@008 J009, 29 FEIo INY

1. 40 : 20
2. 1:20
3. 20:1
4. 20:40

2 .
Convert i into percent

%5& 3505°8 58S

1 28t
7

2. 28l
4
28%
4. 280%

Sneha purchased a hair dryer for Rs. 5400 including 8% VAT.
Find its price before VAT was added. (in Rs.)

R 8% T5E S 5O 28 Tronb@anHs &, 5400 §0S
TGS Beuds 5008 o edeo PO, (8r.08")

1. 5000
2. 5100
3. 5200
4. 5300
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100.

101.

The cost of a flower vase is Rs. 120. If the shop keeper sells it
at a loss of 10%, then the selling price is (in Rs)

2.5 Yro $06 P8 &7 120. SR T 10% S8
8:9333&5 AEO P 6:9533&(5 S8 (Sr.08°)

1. 106
2. 108
3. 110
4. 105

Equivalent fraction of %

15
— RANE). B°S D0
15 0% )
. 8
7
2. 2
-
3, 4
7
4. 2
7

The runs scored in a cricket match by 11 players is as follows:
6, 15, 120, 50, 100, 80, 10, 15, 8, 10, 15
Find the mode of this data

$38 57gS° 11 508 esearreg DS HHiHes §0d Ao
&ano0. 6, 15, 120, 50, 100, 80, 10, 15, 8, 10, 15

s SS0FI0 B0 WTFE0

1 10
2 50
3. 15
4 100



102. Find the perimeter of a triangle whose sides are 8§ cm, 7 cm,
5 cm (in centimeters)

8 20.., 7 20.2., 5 20.2. ghare Fodeon Ko (Deheo
HENT S (0.008°)

1. 19
2. 20
3. 21
4. 22

103. A parallelogram with 4 sides of equal length is called.

I. Square

2. Rectangle

3. Rhombus

4. Trapezium

TP SYE° IS PEIT KO IS3°0B8 iséocio?)zsoaio

D DOOJLL.

1. WEBLB00

2. QYo
ol

3. P02

4. | BdRHO



104.

105.

106.

If two cubes are placed side by side, then dimensions of the
resulting Cuboid be

1.
2.
3.
4.

The height is the only measurement which increases
The length is the only measurement which increases
The length is the only measurement which decreases

The breadth is the only measurement which decreases

Boc DT DY DYD &oIT INES Y00 Fosed’

1.

LN

8500 A&y S SKHEH0H
500 PEY IS DEIHS0O
8500 FEY SR S0
3500 Jken) ST SKE08

The sum of the three angles of a triangle is
(QeHzoS Sareh §ere Ino

1.

2
3.
4

360°
90°
180°
0°

Angles are measured in

1.
2.
3.
4.

Meters
Degrees
Hours

Rupees

oo 3o Sy

1.

Ll

fbéoéc%
&\Ren
Koeren

BP0



107. Add the following
P+m?, m*+n*, n*+1%, 2lm+2mn+2nl
808 & Doseso BANos.

P+m®, m*+n*, n* +1%, 2lm+2mn+2nl

207 +2m* +2n* +Ilm+mn+nl
P +m*+n* +Im+mn+nl

207 +2m* +2n* + 2lm + 2mn + 2nl

b=

204+2m+2n+Im+mn+nl

108. Factorize m* —256
m* =256 50 S°5eT0E JeIessS DOV0E.

1. (m+4)(m-4)
2. m* —n*
3. m2—16(m2+42)

4. (m—4)(m+4)(m* +16)

109. Express the following number in standard from
“Charge of an electron is
0.000, 000, 000, 000, 000, 000, 16 coulomb.”
808 Rvopg (FIreds Ernos” oaod.

“e8 Qo@g 3)6535@3%40 0.000, 000, 000, 000, 000, 000, 16
507085,

1 1.6x10"
2 16x107"
3. 1.6x107"
4 16x10"



110. The value of the expression 2 (a2 +ab)+ 3—ab, when
a=5andb=-3.

2(a® +ab)+3-ab 237008, a=5,b=—3 eoSHpd

PO DI
1. 38
2. 12
3. —38
4. —12

111. The value of 150 kg 30 g +30 =

1. 50kglg
2. Skgl100 g
3. Skglg
4. 500 g

150 8.4 30 (™ + 30 Deos

1. 50 &.e. 1 (.

2. 58, 100 (.
3. 581w
4. 500 (.



112. The bus departs from the terminal at 11:20 am and arrives the
destination at the 2 : 40 pm. How long did the bus travel

113.

1.
2.
3.
4.

13 : 20 hours
10 : 60 hours
14 : 40 hours
3 : 20 hours

28 23%0) 11:20 am @6&55:@0& 25050038 2 : 40 pm %
K58 D83 &5 ) JoBHY (PASre3oNos.

1.

2
3.
4

13 : 20 Kodsen
10 : 60 Kodsen
14 : 40 Koésen
3:20 Koeoew

Find the height of a cylinder whose base area is 180 cm® and
volume is 900 cm’.

1.

2
3.
4

7 cm
6 cm
5 cm

4 cm

2rRTeg0 180 0.0 5085w DF85rE0 900 0.0 Ko
00 Y EHATOE.

1.

Ll

7 20.20.
6 0.20.
5 20.20.
4 20.20.



114. Find the area of the circle whose radius is 14 mm

1. 616 mm’
2. 615mm’
3. 6l4mm’
4. 626 mm’

14 0., FGPES0 Ko IHBITOgE0S SHAS0E.
1. 616 <3.20.20.
615 <3.20.20.
614 5.2.20.

Ll

626 5.20.9.



METHODOLOGY

115. “For example, we can see two books. But, we cannot see the
two”. Which concept relates the statement

116.

1.
2.
3.
4.

Direct
Concrete
Abstract

Conjunctive

“EIPIPEE BOK YITTODH SrEKenidrero. 59, S
o &I I SEBo”. ($08 73S° 3B O TSI

J022000AI8.
1. S5

2. Sy

3. 30578

4. LO&BS

According to psychology the teaching of Mathematics should
not only be the center of curriculum, but it also

1.
2.
3.
4.

Teacher centered
Subject centered
Lesson centered

Child centered

SoFEIIGBT(RO (RSB0 Hede 5758 PEGRAAH Soorr
S(GR SHOG BrAFON 55 GoTed.

1.

L

&I orges> Sol@on
233> oo
Fergo¥o Sogsor
8% So(gor



117.

118.

The method of teaching, in which the teacher creates
opportunities for students to learn themselves without directly
informing the subjects is

1.
2.
3.
4.

Heuristic method
Deductive method
Inductive method

Synthetic method

eavcs;goﬁncso DAY YO T ROCHTONHHOT,
Trgen 7 AHO BoooES @ISR SO

5803 258
1. @fignw BEA
[on]
2. DRI DG
3. SRS DL
4, DOBTAET DSS
(9p] [ev]

The following consists of the necessary material to teach so
many concepts in Mathematics in understandable way.

1.
2.
3.
4.

Textbook

Green/Black board
Mathematics laboratory
Notebook

RBS0S° AT LOTOR WO, SSPOBH SBIGor
57005 ©SVEHE>g IR SOAYYHD

1.

Ll

SO

AS / 28 8°6
KBS (pBTARTo
S*eSen§



119. The organization responsible for the preparation and
development of State syllabus textbooks at State level is

o DB 90220800 TPFNS” FETO Fow T
DRT O ErFoBOBE0, DB HBB00 IH0Y e ios’

~ToSNCTI Vol

1 NCERT

2 DCEB

3. SCERT

4 Telugu Academy

120.  Which type of questions allows the students to present the
answers with more creativity and independently

1. Objective type questions
2 Fill in the blanks

3. True /False type questions
4 Essay type questions

Dergsyen 'fooga‘:)o‘éwe‘é RIrEraren 33erd8 @S0 &od,
S DS 5 FE I I (PE0)0iEAS 9S50 &)
BHe

L JRoHIR HHe

2. EILLITSUI) LTS TOIR BTN

»

D50 / w0 S8 (DHeo

-

TG (R



121.

122.

SET -3
EVS

The source book which keeps a record of all the endangered
animals and plants

1. Blue data book

2 Red data book

3. Green data book

4. Pink data book

DS &) ) BOSOHL, I DD I B
Do
1

ap Ger 2§
2. B& der wof
3. S @er enf
4. 20§ e 20§

Petrol and diesel are obtained from this natural resource

l. minerals
2. ores

3. petroleum
4 coal

2SS, EaSos Be BIvm S5 $08 FoHERO

1. DTN

2. w3 SINION
3. ?,3@58@0‘530
4. AN



123.

124.

The astronaut who landed on the moon on 21* July, 1969 after
Niel Armstrong

l. Kalpana Chawla

Edwin Aldrin

3. Scott Kelly

4. John Glenn

2@ 21, 1969 5 &3085° S0 IS sy ok Soxes

N

SOER P @I DYS Sy

1. SN
2. 03&55_ &9@5
3. ;&3

4. TS

The pollen of a flower landed on the stigma of a flower of a
different plant of the same kind is

1. Seed dispersal

2. Self pollination

3. Cross pollination

4. Grafting

2.5 90 &' Do TenYeo, 0T S5 I 308, HT)©
SorrR) oo

1. QB3 s°§§ao
I(DOSL/DU"K bomﬁbo

DEHoCH éobézro

LN

e90e0BEIEO
[h)



125.

126.

When carbon dioxide is passed through lime water, it turns
milky due to the formation of

1. Calcium oxide
2. Calcium carbonate
3. Magnesium oxide

4. Magnesium hydroxide

Y B &F)E B HBS’E DoBSHPD, 38 B)ELo
SOS FOU® IS0,

L 900 e

A0 SENIE

Bo@aosoo esgﬁ

L

Dfyaho TEEE

Dietary fibres are also known as

1. proteins

2. nutrients

3. roughage

4. fats

SPEOS S0T M ITTOH & D
L 8%

2. DPAseen

3. 5%

4.

SRV



127.

128.

The additional parts of the skeleton that are not as hard as the
bones and which can be bent

1.
2.
3.
4.

muscle
cartilage
joints

rib cage

S eD0z80S” ST IT G GoGD, SoSKe 9SS

2T

1. Bokso

2. ;Sogcso@?o
[©)]

3. é%q)

4, &3:H02380

The motion of a point marked on the blade of an electric fan is
an example of

1.
2.
3.

4

rectilinear motion
circular motion
vibratory motion

rectilinear as well as rotational motion

51)65355 i::gS Boo¥), ggéi D K80506S 2.8 Hothy BwY)

Soso 828 arsess

1.

L

TS oS0

STE°E 5050

OIS WSO

BHOSH HBA (G0 TOSO



129. The sequential order of stages in paddy cultivation

1. harvesting, winnowing, storing, threshing
2. storing, threshing, winnowing, harvesting
3. harvesting, threshing, winnowing, storing
4. winnowing, threshing, storing, harvesting

50 FHS B (EHDYD

1. H0erEPes, SEPC)S 24250, Jex [onEo, Beeplate
o

3@033053650, SE)50, SroySagso, H0erEses

DoeaEees, SE)50, Srov)Swgso, 20@03?3053650

L

EPo) B0, STY)Eo, K)ezsz'ﬁcﬁocﬁo, HoerEes

130. Saving and digital transactions are promoted by

1. Police station
2. Bank
3. Primary health center

4. Veterinary hospital
TP 0050 SRS SPTBAOD ST vog

1. FOS [
a7°§o§>
Eodafe Vs eﬁé‘e?ieg So|Eso

Lol

;’3&3@655%"@



131. An example for audio visual communication device

I. News papers
2. Radio
3. Television

4. Telephone
S FSer DTS (P PEIS &TeSe

1L JTH BT
2. Bé&or

3.  B9d=S

4.  BOXFS

132. A national, 24 hour, emergency toll free phone number for
children in need of care and protection

1. 1089
2. 9018
3. 1098
4. 8109

eHES” &3) WrOO SPPErS, HoBFoSEIS 24 Koswer
DATD w8 SDS HOA SGIHY FS Jowd

1. 1089
2. 9018
3. 1098
4. 8109



133.

134.

SET —6
SOCIAL STUDIES

‘Bewar’ is a term used in Madhya Pradesh for

1.

2.
3.
4.

Slave

Flower
Shifting Cultivation
A tool used by tribal people

So655 (905 §° &R@rAoB w0 B esm

1.

L

2720

D)0

DTS SFII D0
ABmSen TG 2.5 HOEL0

‘Tanka’ was a

1. Gold coin

2 Silver coin

3. Copper coin
4 Leather coin
‘©o3 of

1. 2208 J°€30

08 J°E30
O°R J°€30

Sen T30



135.

136.

Sanchi Stupa was built by

1. Ashoka

2. Kanishka

3. Bimbisara

4. Harshavardhana

o) AT D8 YODIE
[©)]

1. e5°5%
2. B0
3. DODIEE
4. TESER

The origin of river Krishna is
1. Mahabaleswar

2. Nasik

3. Gangothri

4. Hamsaladeevi

B)L IO 23 &b;?éo

L 55%8%6

2. J°DE
3. XoR\®
4, 300089



137. The separate electorates were arranged for this religious
community in 1909

1. Hindus

2. Christians

3. Muslims

4. Sikhs

1909 & &3 S ST (HEE ABTHE STOK TEroOTWH

1 Zrosen

2. o9

3. SO
™

4. ?o§>zre>o

138. Maps that are prepared for a special purpose
1. Physical Maps

2. Thematic Maps

3. Political Maps

4. Historical Maps

28 (B8 IR BooYerH GHTPAOT Heren
1 Z°BE Jeren

QA% Z)fé%’eé DeTee0

orzdasy Heren

LN

G"@@é DeETPe)



139.

140.

This book focuses on Surgery

1.

2.
3.
4.

Charaka Samhitha
Aryabhattiyam

Kreedabhiramam

Sushrutha Samhitha

3G N8B OR TGS YHTO

1.

= D

BBE Jo°es
555 a0
@mé)m:ﬁoo
RIS Voees

“Spinning Jenny” was invented by

1.

A

Richard Arkwright

John kaye
John calico

Solvyns

YR BY” dhHolEm) EHATHS

1.

L

056 6,88
NSO

o O8°
>



141. ‘Pigmies’ live in the basin of this river
1. River Congo
2. River Amazon
3. River Volga
4. River Ganga
Bhyen’ B SO DOTIE (0S50S ISBTYD

1. SPOR° 356
2 0TS SO
3. SPer 58
N
4 Kone S8

142. It is a collection of vedic hymns composed by Rishis
1. Sama Veda
2. Atharvana Veda
3. Rig Veda
4. Yajur Veda

200000 HOEDSO DS §is*>e> 0S0TPA0

L s 30

2. esdes 3¢50
3. 2w0Rgeso

4. ODHeBIEo



143.

144.

145.

Second Tarain war was fought in this year
BOES SBS A5E0 BOAS HOSSYB0

1. 1190

2. 1191

3. 1192

4. 1193

GPS Means

GPS o3

1. Gross Production System
2. Global Production System
3. Gross Production Signal
4. Global Positioning System

The summative assessment questions are prepared based on

b=

Learning outcomes
Academic standards
Project works

Assignments

DOYITeTS )8 Srergosio FE%H (HHos IS ersor

SAITE> B

1.

Ll

@25565" 003;5@3
TG (DI7ET°0
@é% Do

90082
— [se]



146.

147.

“Science is method of research” is defined by
1. A.W.Green
2. Einstein

3. Karl pearson
4. Showalter

“DepS YO 2.8 DBET AoES0” @ DEDODST

Lo ey B
2. wS?gS

3. 56 205608
4. Fegd

The appropriate method to teach science in primary classes

1. Group activities, discussion, surveys

2. Lecture method

3. Demonstration method

4. Teacher centered method

(DEDE S8XH0S ) SBoS%H $S DL

1. BB yorgen, 58, WOgen
2. DTS HES

3. PEHS 98

4. &g SoB8)S 988



SOCIAL METHODOLOGY

148. This is a useful method for thinker and the seeker

1. Inductive

2. Deductive

3. Analytic

4. Synthetic

S ST HHOL $oOAN SHADHOH GIBTASTHN IS0

1. e35:30J°¢% &§

QRSO T°es &§

DFAEToES &§
™

L

DOBAETSS 3
™

149. The specifications like working with others, respecting others
opinion, questioning freely come under this Academic
standard

1. Map pointing

2. Information Skill

3. Response to contemporary issue
4. Sensitivity and Appreciation

FEDHOS’ EOD HITANEO, JEHO AT
500, '?o“gzﬁl)m (dyouseso S5083 éo)%gésaen 3od
AT (d3eao (§ois S0

1. Z:eog‘;g)e’aeso
QI8 JDE0
RHTOS woFwp (PAV)OLS

S

RYBS0 DO (IO



150. How many steps are there in the Discussion process

S07) (BEDHS” Ko Fraren

1. 5
2. 4
7



